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1) A CD player uses light of frequency 3.85 x 10" Hz to read the information on the disc.
i Y a) What is the wavelength of the light? A=7.79€ -7 m
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\ + 5) When an electron in a hydragen atom falls from the fourth energy level to the second, a photon of
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E Tb +1 159 6S 04 6y ¢) Explain the energy difference between this photon and the photon in Problem b.
M e N=Y N1 requss mork Enegy since Jvmpine exton eavoyy eve)
o S | 22 (& 17 17 6) Calculate the freguency of light emitted when each of the following energy transitions occurs in the
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state to the third energy level? What is the energy of this light?
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Write the electron configuration notation of the following elements: Review: The valence electrons are the electrons in the outermost principle energy level (n). They are always the
A 2 'S Q £ 2 outermost “s” or “s and p” sub-shells. Since the maximum number of electrons possible in the “ s “ and “ p «
1. Calcium (Ca) Q0 l‘;’ 9‘5 QF ;s gl’ Ltg

2 3 sub-shells is eight, there can be no more than eight valence electrons.
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Directions: Write the element’s Noble Gas Notation electron configuration, and determine its number of
T R ‘pl 352 ?!’c Ys234"™y~Ss2ud > valence electrons (# of electrons in the “outermost” shell).
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